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Exercise3.1

Q-1



Exercise3.2

Q-1

Q-2

Q-3

1.2384from 6582

Th H T O

4 17

7

12

6 5 8 2

- 2 3 8 4

Ans 4 1 9 8



2.3941from 7982

Th H T O

7 9 8 2

- 3 9 4 1

Ans 4 0 4 1

3.7617from 9848

Th H T O

9 8 4 8

- 7 6 1 7

Ans 2 2 3 1

Q-4

1.67390-4019

Tth Th H T O

8 10

6 7 3 9 0

- 4 0 1 9

Ans 6 3 3 7 1



2.5826-3614

Th H T O

5 8 2 6

- 3 6 1 4

Ans 2 2 1 2

3.8526-1324

Th H T O

8 5 2 6

- 1 3 2 4

Ans 7 2 0 2

Q-5

1.5216-2704

Th H T O

4 12

5 2 1 6

- 2 7 0 4

Ans 2 5 1 2



Check

Th H T O

1

2 7 0 4

+ 2 5 1 2

Ans 5 2 1 6

2.6737-3815

Th H T O

5 17

6 7 3 7

- 3 8 1 5

Ans 2 9 2 2

Check

Th H T O

1

3 8 1 5

+ 2 9 2 2

Ans 6 7 3 7



3.9347-4833

Th H T O

8 13

9 3 4 7

- 4 8 3 3

Ans 4 5 1 4

Check

Th H T O

1

4 5 1 4

+ 4 8 3 3

Ans 9 3 4 7

Q-6wordproblems

 containerIsthaslitersofmilk=3478

 ContainerIInd haslitersofmilk=5646

Containerhasmoremilk=5646-3478

Th H T O

5 13

3

16

5 6 4 6

- 3 4 7 8

Ans 2 1 6 8

ContainerIIndhasmoremilkby2168liters.



2.

 Studentsappearedinexamination=5078

 Studentspassedinexamination=2256

 Studentsfailedinexamination=5078-2256

Th H T O

4 10

5 0 7 8

- 2 2 5 6

Ans 2 8 2 2

Studentsfailedinexamination=2822


